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<p><a href= https ://1d246. com/forward7goto http%3A%2F%2Fwww.redis.cn%2Fcommands
html" target- blank" rel="nofollow ugc">ERB&H<EITMIL</a> </p>
<h3 id="1-Redis&&-key-">1.Redis & (key) </h3>

<ul>
<li>
<p><code>keys *</code> : BESRIERRTE key</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; keys *

</span></span><span class="highlight-line"> <span class="highlight-cl">1) "k2"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "k1"
</span></span><span class="highlight-line"> <span class="highlight-cl">3) "k3"
</span></span><span class="highlight-line"><span class="highlight-cl|">
</span></span></code></pre>

</li>

<li>

<p><code>exists key</code> : FIMFEN key BEEFE</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; exists k3

</span></span> <span class="highlight-line"> <span class="highlight-cl">(integer) 1
</span> </span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
exists k4

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 0
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>

</li>

<li>

<p><code>type key</code>: BE key HIEUESRE </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; type k1

</span></span><span class="highlight-line"> <span class="highlight-cl">string

</span> </span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
type k3

</span></span><span class="highlight-line"> <span class="highlight-cl">string
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>

</li>

<li>

<p><code>del key</code> : MRIEERT key EHE</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; del k2

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 1
</span></span><span class="highlight-line"><span class="highlight-c|">
</span></span></code></pre>

</li>

<li>

<p><code>unlink key</code>: #R#E value iEEIEFHZEMIFR </p>

</li>

</ul>

<blockquote>

<p>{& keys M keyspace TTEUEF MR, EERMREERLSRLSEE</P>

</blockquote>

<ul>

<li>

<p><code>expire key 10</code>: FLEER key REITHIATEI</p>

JERSZiEE: Redis-02- BRTASIRESE
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</li>

<li>

<p><code>ttl key</code>: BERFTHRYE -1 FRoOKAEH, -2 RREEIH</p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; ttl k1

</span> </span><span class="highlight-line"> <span class="highlight-cl">(integer) -1
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code></pre>

</li>

<li>

<p><code>select key</code> : {Jia#IERE</p>

</li>

<li>

<p><code>dbsize</code> : BEESRIEUERE key RUEE</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; dbsize

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 2
</span></span><span class="highlight-line"><span class="highlight-cl|">
</span></span></code></pre>

</li>

<li>

<p><code>flushdb</code>: BEEHIEE</p>

</li>

<li>

<p><code>flushall</code>:  @HREIEE</p>

</li>

</ul>

<h3 id="2-Redis=fF&-string-">2.Redis =fF&(string)</h3>

<h4 id="2-1-fGN">2.1 @&/ r</h4>

<p>String & Redis REARZRIEIEREY, TTLIEMR IS Memcached —HAI2EEY, —4 key XL

1 vale</p>
<p>String KEE "L eH), BEkE Redis B String LA SIEHEAEEE, il jpg NE R
HRIXIS </p>

<p>String 282 Redis HREAIEIERE, —N=/FE value HREHLIE 512M</p>

<h4 id="2-28Mip<">2.2 EfRH<S</hd>

<p><code>get &lt;key&gt;</code>: HifXIREE</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; get k2

</span></span><span class="highlight-line"> <span class="highlight-cl">"v2"
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>

<p><code>append &lt;key&gt; &lt;value&gt;</code> : ELAER value BINRIRERKRE</p

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; append k2 v22

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 5
</span> </span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
get k2

</span></span><span class="highlight-line"> <span class="highlight-cl">"v2v22"
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code></pre>

<p><code>strlen &lt;key&gt;</code> : key BKE </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&qgt; strlen k1
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</span></span> <span class="highlight-line"> <span class="highlight-cl">(integer) 2
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code></pre>

<p><code>setnx &lt;key&gt;&lt;value&gt;</code> :  7E key FMF/ERS, iRE key-value</p

<pre><code class="highlight-chroma"> <span class="highlight-line" > <span class="highlight
cl">127.0.0.1:6379&gt; setnx k4 v4

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 1
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>

<p><code>incr &lIt;key&gt;</code> : % Key FERISFEE—, REERIFER

| WA, FHBER 1</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; set k1 1

</span></span><span class="highlight-line"> <span class="highlight-cl">O0K
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&gt;
incr k1

</span> </span><span class="highlight-line"> <span class="highlight-cl">(integer) 2
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
get k1

</span></span><span class="highlight-line"> <span class="highlight-cl"
</span></span></code> </pre>

<p><code>decr &lt key&gt;</code>: 5 key SPFERIECHER—, REEXIHFER

, AR, FRERN-1</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; decr k1

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 1
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&gt;
get k1

</span> </span><span class="highlight-line"> <span class="highlight-cl">"1"
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code></pre>

<p><code>incrby / decrby &lt;key&gt;&lt;step&gt; </code> : 15 key hIFfERIEFEILR B
MR, </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; incrby k1 10

</span></span> <span class="highlight-line"> <span class="highlight-cl">(integer) 11
</span> </span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
get k1

</span></span><span class="highlight-line"> <span class="highlight-c|">"11"
</span></span><span class="highlight-line"> <span class="highlight-cl|">
</span></span></code> </pre>

<h4 id="2-3-HUEEH" > 2.3 HUEEM </h4>

<p>String BRI NBERNSFHTER, NEREMISEIN ESRUT Java RY Arraylist, RS ECT
AT ERMD AFRIRE D . </p>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2022/05/image-272587af.png?imageView2/2/interlace/1/format/jpg"> </
>

<p>HIEFTR, KSR MEIE R BIZSI capacity —RERT TR REBKE len, %3
BRKE/NT MBS, §FSERNEIETE, UREd 1M, UBRRAST S M, FRENEKR
ER 512M.</p>

<h3 id="3-Redis%lz&-List-">3 Redis 53 (List) </h3>

<h4 id="3-1-f&1">3.1 f&/r</hd4>

<p>EA§EE(H, Redis FIRERBIFFTHRIIR. </p>

ll2"

\%
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<p>IZRRIBANIRFHERT. (RATLURII— P oREPIRAISER (i) BB (Al) . </p>
<p>EHIEESLFRE <strong > WESER </strong>, XFHIHEEIERERS, BIERS | TRV
FENTRMRESRE, </p>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2022/05/image-38a4671f.png?imageView2/2/interlace/1/format/jpg"> </
>

<h4 id="3-2-BR&<">3.2 EfA®<$ </hd>

<p><code>lpush/rpush &lt;key&gt;&lt;value1&gt;&lIt;value2&gt;&lt;value3&gt; .... </code>
WED/BBBEN—"EHEME. </p>

<p><code>lrange mylist 0 -1</code> : 0 ZmAE—, -1 ABE—, (0-1 FXIKEFE) <
P>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">127.0.0.1:6379&gt; Ipush k1 1 2 3

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 3
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&gt;
Irange k1 0 -1

</span></span><span class="highlight-line"> <span class="highlight-c|">1) "3"

</span> </span><span class="highlight-line"> <span class="highlight-cl">2) "2"
</span></span> <span class="highlight-line"> <span class="highlight-cl">3) "1"

</span> </span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
rpush k2 45 6

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 3
</span> </span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
Irange k2 0 -1

</span></span> <span class="highlight-line"> <span class="highlight-cl">1) "4"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "5"
</span></span><span class="highlight-line"> <span class="highlight-cl">3) "6"
</span></span></code> </pre>

<p><code>llen &lt;key&gt;</code>: FKEFIRKE</p>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">127.0.0.1:6379&gt; llen k1

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 3
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>

<p><code>Ipop/rpop &lt;key&gt;</code>: NEH/GiAtH—ME. BEERE, BXRET. </
>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; Ipop k1

</span></span><span class="highlight-line"> <span class="highlight-cl">"3"
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>

<p><code>rpoplpush &lt;key1&gt;&lt;key28gt;</code>: M keyl FFEGHITH—ME, 1EE!
ey2 FIFRAA. </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; rpoplpush k1 k2

</span></span><span class="highlight-line"> <span class="highlight-cl">"1"

</span> </span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
Irange k2 0 -1

</span></span> <span class="highlight-line"> <span class="highlight-cl">1) "1"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "4"
</span></span><span class="highlight-line"> <span class="highlight-cl">3) "5"
</span></span><span class="highlight-line"> <span class="highlight-cl">4) "6"
</span></span></code> </pre>

<p><code>linsert &lt;key&gt; before &lt;value&gt;&lt;newvaluedgt;</code>: 7x value iy

BEHEE: Redis-02- EEAALHESRR
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HEfEAN newvalue {E</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; linsert k2 before 5 3

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 5
</span></span><span class="highlight-line"> <span class="highlight-c|">127.0.0.1:6379&gt;
Irange k2 0 -1

</span></span><span class="highlight-line"><span class="highlight-cl">1) "1"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "4"
</span></span><span class="highlight-line"> <span class="highlight-cl">3) "3"
</span></span><span class="highlight-line"> <span class="highlight-cl">4) "5"
</span></span><span class="highlight-line"> <span class="highlight-cl|">5) "6"
</span></span><span class="highlight-line"><span class="highlight-c|">
</span></span></code></pre>

<p><code>lrem &lt;key&gt;&lt;n&gt;&lt;value&gt;</code>: MABMIEE n 4 value(MEZEIH
</p>

<p> <code>Iset&lt;key&gt;&lt;index&gt;&It;value&gt; </code> : EFZE key TFHrA index BY
Bipk value</p>

<pre><code class="highlight-chroma" > <span class="highlight-line" > <span class="highlight
cl">127.0.0.1:6379&gt; Iset k1 0 2

</span></span><span class="highlight-line"> <span class="highlight-cl">OK
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&gt;
Irange k1 0 -1

</span></span><span class="highlight-line"> <span class="highlight-c|">1) "2"
</span></span></code> </pre>

<h4 id="3-3-8#EEH" > 3.3 REE </hd >

<p>List FEUBLEIHPIEER quickList, <br>

BSREFIRTERONER FaER—RESNAEEE, XNMEER ziplist, BRIREREIR. </
>

<p>ERMENTEERE—EFE, PENE—REZIRE. <br>
SEIREVI SRR RA 2R quicklist, <br>

EAEBIERRZAIMINEH AAKR, SBIRETE. HIIXNFIREFHIRRE int 25840921

, G ERFEFRADEIMIIEST prev # next, </p>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2022/05/image-0a71c2f3.png?imageView2/2/interlace/1/format/jpg" > </
>

<p>Redis 5443 ziplist ZAIREMT quicklist, WRERESA ziplist SEFANISs Sk

o XFEFELHE T IREAEARIRERE, NASHIAKXWZETR. </p>

<h3 id="4-Redis&E&-Set-">4.Redis & (Set) </h3>

<h4 id="4-1G"">4.1 & </h4>

;p>setz)t STIMRILAITHEERSRLT list FOFIZR, (BR set ATLIBHEE, FHEHTHMTEERSEEFE
= 1<br>

Redis B9 Set 2 string KT FES. BEREHSLE— value 79 null BY hash 58, RRLAGZIN,

bR, ERSEREERE O(1), </p>

<hd id="4-2-BRd<">4.2 EfFdp<S </hd>

<p><code>sadd key valuel value2 ...</code>: E—PEZ D member JTTEINAZIES key &
EBAFENTEERES </p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; sadd k112 3 1

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 3
</span></span><span class="highlight-line"> <span class="highlight-c|">"
</span></span></code></pre>

<p><code>smembers key</code>: ENHZESHIFIBITER</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; smembers k1

BEHEE: Redis-02- EEAALHESRR
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</span></span> <span class="highlight-line"> <span class="highlight-cl">1) "1"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "2"
</span></span><span class="highlight-line"> <span class="highlight-cl">3) "3"
</span></span></code> </pre>

<p><code>sismember key value</code>: ¥|fiEe& key HE2EH value</p>

<pre><code class="highlight-chroma"> <span class="highlight-line" > <span class="highlight
cl">127.0.0.1:6379&gt; sismember k1 1

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 1
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&gt;
sismember k1 5

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 0
</span></span><span class="highlight-line"><span class="highlight-c|">
</span></span></code></pre>

<p><code>scard key</code>: IRENZEEITTENE</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; scard k1

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 3
</span></span><span class="highlight-line"><span class="highlight-cl|">
</span></span></code></pre>

<p><code>srem key value1l value2 ...</code>: HFRESHFIE TR </p>

<p><code>spop key</code> FEHLMIZESFITHENTE</p>

<p><code>srandmember key n</code>: BEHLNIZESHFENE n ME, ANEEHRBR</p>
<p><code>smove source destination value</code>: MNESFIE—MERIEIB—EEH </
>

<p><code>sinter key1 key2</code>: IRERNESHIRRE</p>

<p><code>sunion key1 key2</code>: IREIFHMESHIFHE</p>

<p><code>sdiff key1 key2</code>: IREIRNMNESHESE</p>

<h4 id="4-3%4E%EH" > 4.3 Bt </hd>

<p>Set HURGEHIZ dict 8, FHERARHRITINN. <br>

Java 2 HashSet RYERSCILERIRYR HashMap, RAARIATER value ESEE—1I%R. Redis A9
set ZHIBE—F, CSRIABPBEER hash £518, FFARY value EfsRRE—1REME. </p>

<h3 id="5-Redisl4#-hash-">5 Redis 5% (hash)</h3>

<h4 id="5-1-&">5.1 &/ </h4>

<p>Redis hash E—MRENES, </p>

<p>Redis hash 22— string 28889 field #1 value FIBRETER, hash $FRIESHETFETSR, <br>
(1 Java EB@EAY Mapd&ut;String,Object&gt; <br>

FBF ID &K key, FEHY value FEFXISEEME, F8, £AFER, NRAZEM key/val
e FHgEfFhE</p>

<p>EBBLITIHIFMESIN: </p>

<p><img src="https://Id246.com/images/img-loading.svg" alt="image.png" data-src="https:
/b3logfile.com/file/2022/05/image-0ba4828f.png?imageView2/2/interlace/1/format/jpg" > </
>

<h4id="5-2-FEf&H<">5.2 ERH<S </hd>

<p><code>hset key field value</code> : %5 key EE&HH field $EMH(E value</p>
<p><code>hmset key </code>: field1 value1 field2 value2 ... #2i&& hash B{E</p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; hset k1 name tom gender female

</span> </span><span class="highlight-line"> <span class="highlight-cl">(integer) 2
</span> </span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
hset k2 name jerry gender female

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 2
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>

<p><code>hget key field</code> : M key & field BXH value</p>

BEHEE: Redis-02- EEAALHESRR
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<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; hget k1 name

</span></span><span class="highlight-line"> <span class="highlight-cl">"tom"
</span></span></code> </pre>

<p><code>hexists key</code>: field EERHERE key 1, 5% field RHFE</p>
<pre><code class="highlight-chroma"> <span class="highlight-line" > <span class="highlight
cl">127.0.0.1:6379&gt; hexists k1 name

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 1
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&gt;
hexists k1 age

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 0
</span></span><span class="highlight-line"><span class="highlight-c|">
</span></span></code></pre>

<p><code>hkeys key </code>: FlHi% hash EEHIFTE field</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; hkeys k1

</span></span><span class="highlight-line"> <span class="highlight-cl">1) "name"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "gender"
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>

<p><code>hvals key</code> : FHiZ hash E£EEHIFFE value</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; hvals k1

</span></span><span class="highlight-line"> <span class="highlight-cl">1) "tom"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "female”
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code></pre>

<p><code>hincrby key field increment</code> : A key FfJIE; field FUEINLIEE 1 -1</p>
<p><code>hsetnx key field value </code>: Eg#&E% key FAYLE field BUEIRE N value, 2
(X1 field AFFE</p>

<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; hsetnx tom gender male

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 1
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&gt;
hget tom name

</span></span><span class="highlight-line"><span class="highlight-cl">(nil)

</span> </span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
hsetnx tom age 10

</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 1
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&gt;
hget tom age

</span> </span><span class="highlight-line"> <span class="highlight-cl">"10"
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code></pre>

<h4 id="5-3-FiE%H">5.3 Bt </hd>

<p>Hash EBISNAGEHREMIERFR: ziplist (E48%5I%) , hashtable (I8%%) . 2 field-value
RKEBEEN SRS, £ ziplist, ZNERA hashtable</p>

<h3 id="6-RedisBFF5E&Zset">6.Redis BFES Zset</h3>

<h4 id="6-1G7">6.1 &/ </h4>

<p>Redis BFES zset SEIBES set FEBL, B—NKEEETHRIIFFHES, <br>
AEIZUEREFECSHIENRREREL T — TS (score) IXNFS (score) HARERMERRS
EEDHNHFESTRINR., FERIARERE—F, BRFSTURESET . <br>
EATERBFN, FLMREETLURIRAORIETD (score) BiERRE (position) SREREN—SEERY

BEHEE: Redis-02- EEAALHESRR


https://ld246.com/article/1652088045808

=, <br>
pABEFREENFETEERIEER EREBEREFESFA— N IREEERRIIERTIE.
/p>
<h4 id="6-2-BM#p<">6.2 EfRH<S </hd>
<p>zadd key scorel valuel score2 value2... : E—EZ1 member JTTERHE score [HEIING
&4 key #</p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; zadd k1 100 java 200 c++ 300 mysql 400 web
</span></span><span class="highlight-line"> <span class="highlight-cl">(integer) 4
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>
<p>zrange key start stop IREEFES key T start 5 stop ZEHITTE. </p>
<p>7H WITHSCORES AJLASE R scores</p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; zrange k1 1 3
</span></span><span class="highlight-line"> <span class="highlight-cl">1) "c++"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "mysql"
</span></span><span class="highlight-line"> <span class="highlight-cl">3) "web"
</span></span><span class="highlight-line"> <span class="highlight-cl">127.0.0.1:6379&qgt;
zrange k1 1 3 withscores
</span></span><span class="highlight-line"> <span class="highlight-cl">1) "c++"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "200"
</span></span><span class="highlight-line"> <span class="highlight-cl">3) "mysql"
</span></span><span class="highlight-line"> <span class="highlight-cl">4) "300"
</span></span> <span class="highlight-line"> <span class="highlight-cl">5) "web"
</span></span><span class="highlight-line"> <span class="highlight-cl">6) "400"
</span></span><span class="highlight-line"> <span class="highlight-cl">
</span></span></code> </pre>
<p>zrangebyscore key minmax [withscores][limit offset count</p>
<p>IR[EIES key FATE score /F min 1 max Z3RAY member, 1% score (EIBIEHS </p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; zrangebyscore k1 200 300
</span></span><span class="highlight-line"> <span class="highlight-cl">1) "c++"
</span></span><span class="highlight-line"> <span class="highlight-cl">2) "mysqgl"
</span></span></code> </pre>
<p>zrevrangebyscore key maxmin [withscores][limit offset count] EiFHEF! </p>
<pre><code class="highlight-chroma"> <span class="highlight-line"> <span class="highlight
cl">127.0.0.1:6379&gt; zrevrangebyscore k1 300 100
</span></span><span class="highlight-line"> <span class="highlight-c|">1) "mysql"
</span></span><span class="highlight-line"> <span class="highlight-c|">2) "c++"
</span></span><span class="highlight-line"> <span class="highlight-cl">3) "java"
</span></span><span class="highlight-line"><span class="highlight-cl">
</span></span></code></pre>
<h4 id="6-3-#IEEH8" > 6.3 HREE </hd >
<p>SortedSet(zset);2 Redis IRHAI— M EERHRIRVEIRSE, </p>
<p>—AEEHFNT Java HUEHREEEH Map&It;String, Double&gt;, ATLUEE—/\T= value IS
MYE score, </p>
<p>B—HEEXEUT TreeSet, NEPRITTERIZIRINE score HiTHEF, BILUSEIB N ITHENE
, EAJLUE score AYSBEINGRENTTRAYIIR. </p>
<p>zset [RE(ERTAMUELSE <br>

(1) hash, hash BfFRIBIERELITER value FIfXE score, fRIEITE value BIME—ME, FILAES
2 value #£Z| BMAY score (B, <br>

(2) BkERZR, BRERRRYBRIETLAITE value HEF, RIE score ASBEBREUTERYIR. </p>
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